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And were they standing beside the field of ®X>%%3 29

OVERVIEW

The X131 asks how can the 2°3p71 be 1P the Mwyn through the 7% which 3"
rented to them, but they were not standing alongside the 2%r. They should
not be able to be 1p. Our MdOIN explains why this is a problem even though
the house of 1"1 (where the MWyn were) was a NYANWNHI X7.

nooIN asks:
— N9 129 SV 122 NN ANIAND XYM 9IRD ON)

And if you will say; but the produce was in s'3''1 house -
— 990YN 750 YNNI 129 YV 1N TMIUINT /) P9 351N NONITS

As is evident in %521 7290 in the third pas of mwwn noon; and the

house of 2'"9 was certainly guarded. By a nannwni 930 there is no requirement
that the 1P should be 17w 7¥2 7, so what is the s'%723 question?!

N1B0IN answers:
—1ANIANY INNIAN 192 *pan N3N KYY Z9nnwn 750 XY 091 52097 91019 U

And one can say; that regarding the ‘elders’ the house of 1"7 was not
considered annwn, for there was no separation between his produce and
their produce (the "wyn which he granted them).

mooIn asks a different question based on the conclusion that a 9¥n must be Y72 NANwnA:
— 52N Yy HY YA ) (x,ap 97 mpY) INIYN YNV IR ON)

And if you will say; in the end of >Xw;1 P9 regarding the ruling of the

*31wn that the manure belongs to the owner -
— N3N 2292 Y07 2299) 929WNT 98N NIYYN INNRT 299N X992 1Y P

The X=n3 establishes the ruling of the 71wn in a case where the oxen who
fertilized the 7¥n came from elsewhere (the oxen did not belong to either
the landlord or the tenant), and the 231 belonged to the landlord (the 3

' See previous My 7" MooIn footnote # 19.

%2 To be considered nnwn, a 781 must be under the exclusive protection of the n1p (or his designee),
where no one else has access without his permission. In our case it was not under the 7w of the °1p7 for
the family of 3"1 had access to the entire area. See (however) ‘Thinking it over’.

? This adds support to which was mentioned in the previous My "7 mpon footnote # 9, that 3" was
merely aw X7 on the M wyn, but he did not physically separate them from his produce.

4 2,87 q7. The mawn there states that if a landlord rents out a house to a tenant, the accumulated manure in
the 7x17 (from the animals that are there) belongs to the landlord.
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was not rented out to the tenant [he merely used it for access to the house]),

and therefore it belongs to the landlord according to the ruling of 1''2%9 that
YT ROW 17 AP a7X YW 10xn. This concludes the citation of that Xna.

Moo continues with the question:
— 48N 99IVN NYTY 9NWN HATN 19 ONI I8N YNRNYN 99IWN DN XYM

But now, the tenant is using the 931 (to enter and leave his rented house),
so therefore the 2t is =%nwn in the =37 under the supervision of the

tenant -
— NNAYYN INNRT 29D Y212 99UNN N TN

So how can the landlord acquire the %21 of these oxen that come from
elsewhere?! The 2 is not "anwn exclusively 2"ava nyT, but rather 151w nyT>.

Mo0IN answers:
— 1Y 183 1Y 913 98N ININD NIND 1’2 925U DIV 1Y U

And one can say that the landlord’s house is also open to that 2xn, so it
is considered as if ‘he is standing besides his field’.

$[nomva Bomnnm 207 2,0 PR MDD T Y]

SUMMARY

To be considered nnnwn a 7¥n needs to be 1P NyT? anwn. If one has a
property adjacent to a 7xn, it is considered as if the owner is standing beside
the 2xr.

THINKING IT OVER

mooIN explains that the X120 of the %P7 was not in a 7¥n that was nannwn
any7>.° Would it be considered anyT> nannwn if the family of "2 would
have no access to any of the 7X12n (the X120 of 3"7 and of the "wyn which he
granted to the 0°3p1), would it then be considered D°3p171 N¥72 NMANWH or not?’

> The fact that the landlord’s house is open to the Jxr is considered as if the landlord was actually standing
next to the 7xr.

® See footnote # 2.

7 See v MX 7"0.
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